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✓ 4th)

Let M={ ( × ,y,z)/×2ty2=Et1} be He hyperbola d
.

Let

HA=H×H.net#H(FEasH,FEsnkt

,
E)

( this  is a curve on
M)

i) Let

p=(p×
, py ,

B)
EM

We
can picture TPM as follows :

Let f ( x ,y,z)=  x2ty2 . zi . 1

& ap=8Eh, ,bp=8Fl
,

cp= # Ip

Then we an  identify TPM with the plane

lTp={ Hy,⇒| a.( x - a) +b. ( y
-

py) + cp ( z - B) =o}

Compute ap ,
bp

,
dcp ¢ plot M ¢ Ip

for

:p=fFE2,0
,
F) EM

& p=( 1,0 ,o ) EM
.

a) Plot 8W
,

and the lines

l±={H×H+sof¥t

' ,ryH+sofy¥,aH+soft¥HstR}
at to

,
E- E

,
¢ ⇐ it

.
Are any

of l
. ,l¥&l# subsets of

the planes IT , ,o,o ) or THIF
, o.it ) ?


